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To fulfill?! It should have said he fulfilled — 7195 Spasm KNS NNIY

OVERVIEW
The X713 asks, since "9 17 explained that a person fulfills his obligation by merely
lifting the o> "7, why does the Xn»12 state, ‘if he picked up the 2717 in order nX¥
12 (to fulfill his obligation)’ the Xn>72 should have stated instead ‘he picked up the
2719 and was 12 R¥° (he fulfilled his obligation)’. mModIn responds to an apparent
difficulty' in the understanding of this question.
*

MooIN anticipates a difficulty2 and responds:

—>19503 HNIN 1997Y NS> NIY ¥IUN NNSY
The meaning of the word nR3% indicates that he still did not fulfill the mxn
through this 791,

mdoIN explains how this can be? since 73 P91 RTA:
—INDYTY T NIN NEY IINRT (3,20 97 NIV 19999NTI 1997WI NY NNOYN)

And this can occur (that he is not X¥1 with the 7901 itself) when he turned the
o’ upside down, as the X773 states in 77219 Noon that he is not XX the mxn of '7

o’ unless he holds them in the manner which they grow (the root towards the

ground)
— NP0 NNIND 12 NNYY NIV IVIV IN

Or if he picked it up with the intent not to be X3 the m¥»n with this 7%u1. In

' See 779 121 Mo who explains the difficulty as follows. The X723 challenges the answer of *52 27; how can he
say 77°2 P01 PRT RITYAT, since the Xn»71 states nX¥Y; according to 95 27 it should say X¥>. It seems that the
question is only on 55 27. However n1v01n asks the question is according to everyone since all agree that R17v2
"2 P°51 T"23XT; it has nothing to do with 5 217. The answer of n1©OIN is that without *95 17, since the Xn»71 states
72 nx¥>, which indicates that he was not 7 77°012 X1, we would establish the Xn>72 in a case where indeed he was
not Xx1, for instance if he lifted them 2717°3 7775 X2w. (We would also benefit from this interpretation that he would
be IN»WwyH 2w 7121, see previous XI17°¥2 7"'7 MooN.) However 09 17 states that we say 7V because 91 7723RT RIT°V2
3, then why does the Xn>13 state 72 NX¥>, when it should have stated x¥>. See following footnote # 2 for an alternate
explanation.

* See previous footnote # 1. Alternately; the question of 7°2 "y X¥> NX¥Y is (seemingly) not understood. The Xn»92
states 12 NX¥Y 19v1 meaning he picked it up in order to fulfill the m1%» (by picking it up). How does this contradict the
previous answer that 72 p°91 7°23X7 X17°¥2 (on the contrary it seems to support it). See following footnote # 3 for
NS0 answer.

? mMooIn response is that the phrase (12) NX¥Y (17v3) indicates that he picked it up in order to fulfill the m¥n after he
picked it up, but not by picking it up. Therefore there is a question on "9 27 who maintains 77°2 P51 [°23RT XI7°V3,
since the phrase 17°2 nX¥? 1701 contradicts his assumption.

*If it is not possible to pick it up without being Xxv, then we would be forced to interpret 12 nX¥>, to mean that he
intended to be xx1 through picking it up. There would be no X*wp on *99 21. See footnote # 2.
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either of these two cases he does not fulfill the mx» by picking it up and the 271% n?v1 %y 7572
refers to the future (according to ¥95 27) and the 17272 is (WYL 12w,

mooIn continues with a 7397 ruling:
— (Cong 13739 ¥973) 199179 7998 PN J2919 YY) DINY)
And when a person takes the 291 to make the 77072 it is not necessary to turn it
upside down (in order to be J*wy? 22w 7712n), for -
— Y9N3 ¥yY T98Y 1199 "[PNY 13924 W919]
As the "' explained, since it is required to shake the 271% by %911, he is still P10 in
the mx» and his 7572 is considered JN»WwWyY? 121w,

Another explanation why it is not necessary to invert the 2717:
15203 NN NNRYY NI IPNY DIVN N

Or because he does not wish to be Xx1° with the ;79°12 until after he makes the 77372.

SUMMARY

It is possible not to be XX the M¥»n of 2°1°»n '7 by mere lifting, if it was held upside
down or if there was specific intent not to be XX1°. In any event the 7371 is
considered jn»wy? 72w if he says it before the 2>¥1v1 in 551,

THINKING IT OVER
Why do we not make the 71272 before taking the 2°1°n '7; thereby avoiding all the
difficulties?

> The xm3 concludes that we say yan 2 %, indicating that 5¥ is X272 ynwn. It would seem that by the 2°11 '7 an
effort should be made that the 71¥n should not be completed by merely lifting the a°1°n '7; for then the 71372 would
not be 1n»wy? 121y, However, Moo negates this idea.

% The X"2w17 Moo states that the *"7 ruled in the name of N"A that one should be 7977 the 221 in order to be 71n
NPWY? N2

7 See previous X17°v2 71"7 MpOIN that it is considered IN»WYY 721,
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